

F.No. 2-1/2025-Trade  
Government of India  
Ministry of Consumer Affairs, Food & Public Distribution  
Department of Food & Public Distribution  
Directorate of Sugar & Vegetable oils

Krishi Bhawan, New Delhi  
Dated the 28<sup>th</sup> January, 2026

To

The CEO/MD/GM of Sugar mills.  
(As per list attached)

**Subject: 4<sup>th</sup> Reallocation of Export Quota for export during Sugar Season 2025-26 and consequent adjustment of Monthly release quantity on account of exchange of export quantity with domestic monthly release quantity.**

Madam/Sir,

The Government has allowed the export of 15 LMT of sugar vide letter number 1(4)/2025-SP dated 14.11.2025 along with the modalities for export of sugar.

2. As per clause '4' of the guidelines dated 14.11.2025, DFPD has decided to allow exchange of export quota quantity from the quantity of monthly release quota. In this regard, requests along with agreements between sugar mills involved in exchange of their Export quantity and domestic monthly release quantity have been examined in this Department and accordingly additional export quantity has been allocated and domestic quota of the sugar mills have also been adjusted as mentioned in Annexure.

Yours faithfully,



(Arvind Kumar Rawat)  
Director (DSVO)  
Tel: 011-23383760

**Copy to:**

1. Chairman, CBIC, Department of Revenue.
2. DGFT, Ministry of Commerce.
3. Principal Secretary/Secretary (Food) of State Governments.
4. State Cane Commissioners/Director Sugar.
5. Sugar Control Section, DSVO-For necessary adjustment in domestic quota.

Annexure

(Figures in MT)

Mill Surrendering Export Quota 2025-26					Mill Surrendering Domestic Sales Quota				Adjustment to be made from domestic quota
Sl. No.	Plant Code	Plant Name	Export Quota As on date (in MT)	Qty. of Export Quota Surrendered/ Exchanged	Plant Code	Plant Name	Export Quota As on date (in MT)	Revised Export Quota	
			a	b			d	e=(d+b)	
1	6102	PILIBHIT	8217	2700	60701	SHETPHALGADE	19367	22067	5 equal installments of 540 MT starting from Feb, 2026 till June 2026 for transferring export quota of 2700 MT from PILIBHIT/6102.
2	56101	THANABHAWAN	1000	1000	59901	SPR SUGARS	5627	14185	5 equal installments of 200 MT starting from Feb, 2026 till June 2026 for transferring export quota of 1000 MT from THANABHAWAN/56101.
3	62901	PONDAR	2737	2737					5 equal installments of 547.4 MT starting from Feb, 2026 till June 2026 for transferring export quota of 2737 MT from PONDAR/62901.
	62201	KODIYA	2401	2401					5 equal installments of 480.2 MT starting from Feb, 2026 till June 2026 for transferring export quota of 2401 MT from KODIYA/62201.
	63001	THAINI	1343	1343					5 equal installments of 268.6 MT starting from Feb, 2026 till June 2026 for transferring export quota of 1343 MT from THAINI/63001.
	69000	TUMDA	2077	2077					5 equal installments of 415.4 MT starting from Feb, 2026 till June 2026 for transferring export quota of 2077 MT from TUMDA/69000.
4	49901	MAKKAVALLI	2945	1800	67401	MATOSHRI SUGARS	1630	3430	5 equal installments of 360 MT starting from Feb, 2026 till June 2026 for transferring export quota of 1800 MT from MAKKAVALLI/49901.
5				1145	60101	ANURAJ	2396	7381	5 equal installments of 229 MT starting from Feb, 2026 till June 2026 for transferring export quota of 1145 MT from MAKKAVALLI/49901.
5	30701	PONNI	3840	3840					5 equal installments of 768 MT starting from Feb, 2026 till June 2026 for transferring export quota of 3840 MT from PONNI/30701.
6	3002	RAMKOLA	4463	2000	46401	SIPORA BAZAR	1007	3007	5 equal installments of 400 MT starting from Feb, 2026 till June 2026 for transferring export quota of 2000 MT from RAMKOLA/3002.

			2463					5 equal installments of 492.6 MT starting from Feb, 2026 till June 2026 for transferring export quota of 2463 MT from RAMKOLA/3002.	
7	57201	SABITGARH	6720	5537	33101	INDAPUR	11969	22669	5 equal installments of 1107.4 MT starting from Feb, 2026 till June 2026 for transferring export quota of 5537 MT from SABITGARH/57201.
				2700					5 equal installments of 540 MT starting from Feb, 2026 till June 2026 for transferring export quota of 2700 MT from KHATAULI/3301.
	3301	KHATAULI	13436	2300					5 equal installments of 460 MT starting from Feb, 2026 till June 2026 for transferring export quota of 2300 MT from KHATAULI/3301.
8	60401	GULARIA	3171	3171	46801	MURUM	1529	7420	5 equal installments of 634.2 MT starting from Feb, 2026 till June 2026 for transferring export quota of 3171 MT from GULARIA/60401.
				420					5 equal installments of 84 MT starting from Feb, 2026 till June 2026 for transferring export quota of 420 MT from HAIDERGARH/54501.
	54501	HAIDERGARH	3120	2700					5 equal installments of 540 MT starting from Feb, 2026 till June 2026 for transferring export quota of 2700 MT from HAIDERGARH/54501.
9	8801	K.M.SUGAR	6769	4050	68301	SRI SRI SUGAR	5373	15713	5 equal installments of 810 MT starting from Feb, 2026 till June 2026 for transferring export quota of 4050 MT from K.M.SUGAR/8801.
	3001	DEOBAND	9250	1350					5 equal installments of 270 MT starting from Feb, 2026 till June 2026 for transferring export quota of 1350 MT from DEOBAND/3001.
	21701	HARINAGAR	5235	1350					5 equal installments of 270 MT starting from Feb, 2026 till June 2026 for transferring export quota of 1350 MT from HARINAGAR/21701.
				2240					5 equal installments of 448 MT starting from Feb, 2026 till June 2026 for transferring export quota of 2240 MT from HARINAGAR/21701.
	30901	BANNARI AMMAN	2287	1350					5 equal installments of 270 MT starting from Feb, 2026 till June 2026 for transferring export quota of 1350 MT from BANNARI AMMAN/30901.
11	59401	JAWAHARPUR	2340	60	17001	ASURLE	6420	6480	5 equal installments of 12 MT starting from Feb, 2026 till June 2026 for transferring export quota of 60 MT from JAWAHARPUR/59401.

12				72	51001	KOKARUD	3708	3780	5 equal installments of 14.4 MT starting from Feb, 2026 till June 2026 for transferring export quota of 72 MT from JAWAHARPUR/59401.
13	30902	BAS	6426	2700	69020	SWARAJ INDIA	5742	8442	5 equal installments of 540 MT starting from Feb, 2026 till June 2026 for transferring export quota of 2700 MT from BAS/30902.
14	2902	MAWANA	10427	5000	14001	PATAS	2903	15603	5 equal installments of 1000 MT starting from Feb, 2026 till June 2026 for transferring export quota of 5000 MT from MAWANA/2902.
	1801	YAMUNANAGAR	7713	2700					5 equal installments of 540 MT starting from Feb, 2026 till June 2026 for transferring export quota of 2700 MT from YAMUNANAGAR/1801.
	57701	KHAMBARKHERA	5483	5000					5 equal installments of 1000 MT starting from Feb, 2026 till June 2026 for transferring export quota of 5000 MT from KHAMBARKHERA/57701.
15	57701	KHAMBARKHERA		483	14201	AKLUJ	4479	14442	5 equal installments of 96.6 MT starting from Feb, 2026 till June 2026 for transferring export quota of 483 MT from KHAMBARKHERA/57701.
	60301	MAQSUDPUR	2983	833					5 equal installments of 166.6 MT starting from Feb, 2026 till June 2026 for transferring export quota of 833 MT from MAQSUDPUR/60301.
	57601	GANGNAULI	924	924					5 equal installments of 184.8 MT starting from Feb, 2026 till June 2026 for transferring export quota of 924 MT from GANGNAULI/57601.
	6301	GOLA	7960	260					5 equal installments of 52 MT starting from Feb, 2026 till June 2026 for transferring export quota of 260 MT from GOLA/6301.
	60901	ITAI MAIDA	1701	1701					5 equal installments of 340.2 MT starting from Feb, 2026 till June 2026 for transferring export quota of 1701 MT from ITAI MAIDA/60901.
	6501	PALIAKALAN	5748	4479					5 equal installments of 895.8 MT starting from Feb, 2026 till June 2026 for transferring export quota of 4479 MT from PALIAKALAN/6501.
	60501	RUDHAULI	1283	1283					5 equal installments of 256.6 MT starting from Feb, 2026 till June 2026 for transferring export quota of 1283 MT from RUDHAULI/60501.
				76169			81763	157932	